VAVILLARTEC Mopensb arperarta: AE 2038 (CkapudmnKaTop 3/1eKTpUUecKmuii)




VILLARTEC

Mopenb arperarta: AE 2038 (CkapndukaTop 3/71IeKTPUUYECKUn)

CHHCOK 3alacHBIX YacTen

Ne I1o3. [ApTrukyJ geTaam HaumeHnoBanue KoJ-Bo
1 3082306002  |Iltudr 6x35 AE2038 2
2 2421300002A  |Bau 3y6uateix npyxkuH 16x391 AE2038 1
3 24251000010001A |TTonnepxxka npyxun AE2038 11
4 2425200002A  |3y6uaras npyxusa AE2038 22
5 24251000020001A [Kpbimka Bana AE2038 1
6 2429300004A | YmnorHurenbHas BTysKa Bana 14,5x40x10 AE2038 2
7 3032302001  |T"arika M14 AE2038 2
8 3061301002  |I[Tommmmmuk 62900-2Z AE2038 2
9 3042301004 CromnopHoe konb1o Basia AE2038 2
10 |24221000040001A [Onopa nogmmmrka AE2038 2
11 2422300001N  |TToxmmwmmmk AE2038 1
12 2429300002A  |IIaii0a 30x14x1,5 AE2038 2
13 2425200012A  |Hox npaBbrit 94x30x1,5 AE2038 1
14 2425200010A  |Hox 94x30x1,5 AE2038 14
15 2425200011A  |Hox meBbrit 94x30x1,5 AE2038 1
16 2425300001B  |IIlaii0a 23x19x21 AE2038 15
17 2429300003A  |Illaii0a 25x14x1,5 AE2038 1
18 A26800104702 |Camope3s ST4,2x1,5 AE2038 9
19 2422100003B  |Kpeiika kopooku nepegad AE2038 1
20 A26800901401 |Cromnoproe koibio Baga AE2038 1
21 A26800400801 |ITommmrmuk 6087 AE2038 1
22 3051303001  |Ilmockas miaiida AE2038 1
23 2422100008A  |bonpmoit mkuB AE2038 1
24 A26800404801 |ITommmmmuk 6003-2RS AE2038 1
25 2422300002A  |Coemunurens 61x24 AE2038 1
26 2422100002A  |ITognepixka kopoOku nepegadn AE2038 1
27 A26800706301 |YmiorHenue Sx14x1 AE2038 2
28 A26800801101 |CromnopHas maiiba HapykHoro 3yoa AE2038 2
29 A26800105502 |Camope3 ST5x16 AE2038 41
30 2422300008A | MmuorokimHoBo# 1ikuB AE2038 1
31 2422600001A  |MHorokmHOBOM pemenb 7PJ AE2038 1
32 2428900009A  [Dnexrponsuratesns 230V/50Hz/2000W AE2038 1
33 |24211000010155A |Konmak nepeanero koneca 7 AE2038 2
34 3042301003  |Cromnoproe koib1o Baga AE2038 4
35 A26800705102 |YmiorHenue 12,8x20x0,8 AE2038 4
36 |24211000020001A [Koseco nepeanee 7 AE2038 2
37 A26800703601A |BonroBas miaiitda AE2038 4
38 2421500001A  |Ochb nepeannx konec AE2038 1
39 |24211000050001A |TIpwkuvHas IIacTHHA OCH Kojleca mpaBas nepeanss AE2038 1




v,LLARTEc Mopenb arperata: AE 2038 (CkapudunkaTop afieKTpuiecKkuin)

40 | 24211000040001A |ITpmwxuvHas wiacTUHA ocu Koseca JieBast nepeansist AE2038 1
41 [21011003040155A [Konmaxk 3amsero koneca 6” AE2038 2
42 |21011001960001A |Koneco 3agnee 6 AE2038 2
43 2421300001A  |Ochb 3aanmx komec AE2038 2
44 3011301004 |Camope3 ST4,8x19 AE2038 4
45 [24231000010001A [Kopryc a3 AE2038 1
46 2424600001A  |IIpurezammrHas cetka AE2038 1
47 2424600002A  |IIeme3ammraas cetka AE2038 1
48 2423200001A  |IIpmwxuvuas mwiactuHa AE2038 1
49 3022301001  |Buar M6x40 AE2038 2
50 2426100002B  |BuHTOBOIi CTepKEeHb peryianpoBka BeIicoTbl AE2038 1
51 2426100003A | depxatens BuaTOBOrO cTepkas AE2038 1
52 |24241000040155A [bammep AE2038 1
53 |24231000060001A |Kopmyc cepeauna AE2038 1
54 |24261000010001A [PykosiTka perymmpoBku BeicoThl AE2038 1
55 2426300003A  |Itudr 7x17x22 AE2038 1
56 2208100010A  [ITpwkumuas miactuHa AE2038 2
57 |24241000140353A [Kopryc Bepx AE2038 1
58 2423600001A  [ITpme3ammrHas cetka caeBa AE2038 1
59 2423600002A  |ITpmie3ammrHas cetka npaBas AE2038 1
60 |24241000130216A [ITogpemuas pyka AE2038 1
61 2422300004A  |Ocsb 3aaneii kpbikn 6x402 AE2038 1
62 A26800901701 |Cronopnoe komib1o 5x0,8 AE2038 2
63 2427800001A  |IIpyxuna 3agneit kpbitku AE2038 1
64 |24241000060353A [3annss kpermka AE2038 1
65 |21061002450353B |Pykositka dukcarop AE2038 6
66 2109300018C  |Itudr pykostku puxcatop 10x20 AE2038 6
67 30512050025000 [IIaitca AE2038 6
68 |24262000050001A |Hmxkusist pyaka AE2038 2
69 |21061003760001B |Perymstop nakinoHa npaBbiii AE2038 1
70 2426800001A |Brynka 15x1,7x19 AE2038 2
71 A26800900101 [Cronoproe kombiio AE2038 2
72 |24231000040001A | Pukcupyrommii 610k npasbiii AE2038 1
73 2426300001A  |6ont AE2038 2
74 124231000030001A |Duxcupyrommmii 6110k sieBbiii AE2038 1
75 |21061003750001B |Perymnstop Hakmnona nesoiii AE2038 1
76 2106600001A  |3armymxa AE2038 2
77 2109200014C  |bonr M6x52 AE2038 4
78 24262000040001A [Cpennsist pykositka AE2038 1
79 121041001583201A [Onophas yacTh ¢ JieBa myckoBoro peraara AE2038 1
80 2106800003B  |ITpyxwuHa AE2038 1
81 A26800203301 |Buar M4x8 AE2038 2
82 30113010195000 |Camope ST3x10 AE2038 1
83 |21061000833201A [Peruar AE2038 1




v,LLARTEc Mopenb arperata: AE 2038 (CkapudunkaTtop afieKTpudeckuin)

84 |21061000083201A [Omopnast wacTs ¢ npaBa nmyckoBoro peraara AE2038 1
85 |24262000010001A [Pykositka Bepxusisst AE2038 1
86 |21063002730353A |ITyckoBoii peraar AE2038 1
87 3011301010  |Camope3 ST4x16 AE2038 8
88 |21041002800001A [ITprxumMHast miacTiHa pacnpeenureabHoi kopookn AE2038 1
89 |21041002420001B |Kpeiika neBas pacnpeaeauTeabHon kopooku AE2038 1
90 |21061000223208A [O6onouka kabens AE2038 1
91 2109800022C  |Brynka 8x0,9x31 AE2038 1
92 2109800092C  |Brynka 22,8x1,5 AE2038 1
93 2104100245A  |Ilepexmouarenb HaxumMHOro 6joka AE2038 1
94 2011400029N  |Beikmrouaress 250V AE2038 1
95 2109100088A  |ITpwkumuas miactuHa AE2038 1
96 3011301009  |Camopes ST4x12 AE2038 6
97 ]21061001923201C |IIpwkuvHas TWIaCTHHA pacHpe/euTebHOM kopoOku AE2038 1
98 |21041002810001A [Kpsika npaBast pactmpeaenuresnsHoi kopooku AE2038 1
99 |21061001700353B |Knorka 6e3omacaoct AE2038 1
100 2011100083N  |Kab6ems 500mm AE2038 1
101 [21061000160001A [O60mouka coenmaurensaoro kabens AE2038 1
102 2011100188A  |CoenunnrensHbiii kadbems AE2038 1
103 2011200058A  |Konmencarop 0.33uF AE2038 1
104 2108900050A | Tepmoctat AE2038 1
105 2011300014  |TepmunHanbhas wiactrHa 1,5Mm2 AE2038 1
106 | 24277000022266A | TpaBocooprrk 451 AE2038 1
107 2427200001A  |Ilepemnsist onopa TpaBocOopHuka AE2038 1
108 2427200002A  (3amnsas onopa TpaBocOopauka AE2038 1




